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qoiE: : 300

The figures in the margin indicate full marks.

Answer eight questions, selecting three each from
Section—I and Section—II and twe from Section—III.
Candidates are required to give their answers in their
own words as far as practicable.

All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.
Parts of the same question must be answered together

and must not be interposed between answers to other
guestions.
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SECTION—I
Tug—]1

1. Critically examine the evolution of Indian
nationalism since the late 19th century. 38

1941 w6 & I F v e * fawm R
A=A gdten $ifau)

“Champaran Satvagraha is a watershed in
the freedom struggle.” Elucidate. 38

“TRRT HeAWE Ereiaar ®e9 &1tk oias qig any
78 i)

\H

3. What were the reasons behind overseas
immigration in the 19th century British
India? Discuss in the light of the indenture
system with special reference to Bihar. 38

1057 wdt & ffeometa wia 4 agg gwfaa 9oma &
= SV g7 fagn = foug aed 4 s2=m uglo &
e O e SFifsu)

}.r Examine the characteristics of tribal protest
in the 19th century with suitable examples.
Give reasons for their failure. 38

37 Jere "igd 19« wd A stendia wiava i
fasmyarsfi &1 wefien Fifaw| 6 FEHAT & B
EGIEY
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;/Discuss the features of Mauryan art apd
architecture and its relationship with
Buddhism. 38

i Fe qul Waa-fEi s 6 fAEeas B e
$ifau gen dtg v F o\ I gEU W M U
sifero)

6. Write short notes on any two of the
following : 19x2=38

fa) Working Class and National Movement

(b} Impact of census of 1881 on caste and
religious identities

{cj Nehru and secularism
fafafaa ¥ @ fedl @t w wigw feorioat fefEn -
(%) AwgL @ 3 TP ATGIeH

(@) wfa R wd | g vgEE W 1881 = FHIAl
% UNTE

(M) FEE 3 -Te
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SECTION—II
wus—II

7. What is the major focus of UNDP Human
Development Report, 2019? In what way
does the analysis go beyond income,
averages and present condition? Critically
examine. 38

Y A3 g Saewse ful, 2019 % wqE faww
F1 27 faveww frg wR 3, aitea st gdom fRafy
& AT el WAl 87 erEdedE aftan St

8, Discuss the prospects of trade promotion
between Afghanistan and India with the
launching of New Export Route to and from
India through Chabahar Port. 38

IEER FCUNE @ B 91t YRA & 99 HEE-fFa anf
F UOEA U IEMEHE 3 WE ¥ I SR
HieaTe & weEar i faeear Sifimg

){ Critically examine the key variables that
support well-being as per the United
Nations Sustainable Development Solutions
Network. 38

oy Uy RES faEE WWYA eEs & IER
gaciaa & aude yq@ ga! 6 e e
sifie)

19/ Why does India has an open-door policy
with Nepal and Bhutan as regards free
movement of people between the two

nations? Explain. 38
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QAU & A A F e e @ wE aw g

R, WRA I A0 N e F A gw gn A
T 27 woEmEw)

11. Discuss the UAE’s invitation for India as a

Guest of Honour to attend the OIC Foreign

Ministers Meet as a signal change in
geopolitical dvnamics. 38

e Tafem d wiefe ofedd % oww 6
.M. & Ry e % adem § wm & ¥
wid i Ffafa-fadw % w9 d gui F A W
faggs Sifsm)

SECTION—III
@|us—III

12. The following charts depict the distribution
of overseas tourists from India to various
countries and also the age distribution of
tourists from India during the year 2017 :

Tourists from India Age Group of Tourists

[
\
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Less 30-30 4049 S0-59 Mare

than than
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fa) If amongst the European  Union,
Switzerland accounts for 25% of tourists
traffic and it is known from official
Swiss records that a total of 4 lakh
Indian  tourists visited Switzerland
during the year 2017, then how many
total number of Indian tourists in the
age group of 40-49 years went abroad
from India during the year 2017?

(b) If the total number of tourists of age
group 30-49 is 2400000, what is the
number of tourists who are more than
60 years of age?

(¢} If total number of Indian tourists who
went to China more than 40 years of
age, was 360000 constituted 30% of
total tourists to China, then how many
tourists of other age groups went to
China?

(d) Assuming that the total number of
tourists from India going abroad
increased by 20% in the year 2018,
what will be the total number of tourists
in age group less than 30 in the year
20187

(e) If per capita spending per day of
tourists in UK is ¥ 6,000 and that in
USA is ¥ 5,000 and it is known that
3200000 tourists visited these two

countries, what was the total spending
of the tourists in these countries? 36

DA frgc%?:%ttp://studymarafﬁBHt.iBBfﬂf' |
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(@) afe 30-49 gal + wewl 6 Fa "wEnm
2400000 2, @ 60 @¥ ¥ 1 3y F e
i "wen w27

(m) afe 360000 wrdE wdew, 5 ang 40 ad
H s 4, 91 F T Wehl & 30% o, @
= wEat F fead whes fiq 0@ 92
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() afe 3.5 4 wdewt =1 whifs sfy =afs =g
T 6,000 & 3N @y Usw ImfE ¥ T 5,000
2 3R 7@ & % F9 3200000 Hes = 2wt
Aqded & fod ™ 94, @ = 3 § wdewl +
T fovan @@= Imn?

13. The following multiple bar chart shows
production of same type of wvehicle (in
thousands) for a period of three years by
selected manufacturers and the line chart
shows prices of vehicles in the year 2017 :

Production (in thousands)
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(a) What is the percent increase in the

production of vehicles in 2017 from
20157

(b) Which manufacturers have produced

theﬁsame number of vehicles during the
period under consideration?

(c) What percent of the total production of

vehicles is produced by manucacturers
A and D?

(d) For which manufacturer, the profit
percent is maximum in the year 20177

(e} 1f the manufacturer D had to call back
4000 of its vehicles due to some defects,
what is percent profit/loss of the
company? 36

+ BN ) &1 IAEA
B S ot St o o o & 8 2017

% ford quiar 2 :
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14. The following graph shows the populations
of three countries during the years
2012-17

75 —
70}
65 f

Population (in crore)

— - S | 1 £ S—

2012 2013 2014 2015 2016 2017

(a) What percent of total population is
accounted by the country A in the year

20177

fb) If the sex ratios of countries B and Cin
the year 2016 were 106:5 and 1052,
what is the number of females in these

colhntn'es?

fc) If the number of females in the country
A in the year 2014 is 21-25 crores, what
is ‘rhe sex ratio of country A in the year
20177
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(d) Which vyear recorded the maximum
growth of population in three countries?

(e} Which vyear recorded the minimum
growth of the population? 36

g Yafe af 2012-17 & @ i 2w #;
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(%) ¢ 2017 # 20 A $ THEE, FA TS F
fopen sfowra 87

(@) af Wi B 3 ¢ # A 2016 # fom I
1065 3% 1052 &, @ 1 ¥l ¥ Tl &t gen

forl 27
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(M a2 A # fedt A e A 2014 F 21425

Fg ofl, @ ad 2017 7 2w A A Frmgma fohen
u1?

(9) form ad & A ool o smEm 6t afuwan iz
g & e

() Tou ad & Sden & =paw gfy oo & Y

. The graph below gives exports (¥ in
thousand crore) from three companies X, Y
and Z over three years. Study the line graph
and answer the questions given below : 36

Exports (T in ‘000 crore)
160 ————— —

—4—Company X
—&—Company Y

2011 2012 2013 2014 2015 2016 2017

fa) Average annual exports for companies X
and Y, respectively are approximately
what percent of the average annual
exports of company Z during the given
period?
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(h) What is the difference between the
maximum and the minimum average
annual export over the years?

(c) In which years, the average annual
exports of the companies were same?

(d] In which years, the exports from
company Z were more than the average
annual exports of all the companies?

(e) What is the percent increase in the total
export of all the companies during the
years 2015-2017 in comparison to the
years 2011-20147? 36

= femr 7 e 9w X, Y AR Z @ dF
agt & fla wiws (T 590 FUs o) golar g1 {@iaa
F1 eggq Hifw R Y R MW wEl $ I
gifs

2011 2012 2013 2014 2015 2016 2017
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